Auction Title:343-21 Football Equipment

Bid Rfq Num:32464

4NS - Not to Specifications 4MO - Minimum order quantiteis too restrictive

						*Confidential		
Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
1	Y		Adams Hip/Tail Pads or approved equal #TL300, white	70	PR	AMERICA TEAM SPORTS DAN CAREYS SPORTING GOODS LTD	6.65 9.85	465.50 689.50
2	Y		Adams Knee Pads or approved equal, #TL850, white	175	PR	*Pro Player AMERICA TEAM SPORTS *Pro Player	3.45	692.30 603.75
						DAN CAREYS SPORTING GOODS LTD *Alert SERVICES INC	4.75	831.25
3	Y		Adams Small Knee Pads or approved equal, #KLF- 1	100	PR	AMERICA TEAM SPORTS *Alert SERVICES INC DAN CAREYS SPORTING GOODS LTD	4.85	355.00 485.00
4	4NS Y		Adams Thigh Pads #TL950, or approved equal	60	PR	*Pro Player AMERICA TEAM SPORTS DAN CAREYS SPORTING GOODS LTD	6.05	363.00 510.00
5	Y		Adams Thigh Pad Set, #MGU95 or approved equal	60	SET	AMERICA TEAM SPORTS *Pro Player	11.45	687.00
6	Y		Adams Laundry Belts #LS19 or approved equal,	1100	EA	DAN CAREYS SPORTING GOODS LTD AMERICA TEAM SPORTS	16.15 2.30	969.00 2,530.00
			Color to follow when order is placed			DAN CAREYS SPORTING GOODS LTD *Pro Player	3.55	3,905.00
7	4MO 4NS		Mouthpieces, Adams #MG301, or approved equal, Color to follow when order is placed	6400	EA	VARSITY BRANDS HOLDINGS CO INC RIDDELL ALL AMERICAN	0.32	2,048.00
	Y					AMERICA TEAM SPORTS "Alert SERVICES INC "Pro Player DAN CAREYS SPORTING GOODS LTD	0.40	2,560.00 4,096.00
8	Y		Champion 101 Wrestler Knee Pads 9"or approved equal, Color to follow when order is placed	150	PR	AMERICA TEAM SPORTS	5.95	892.50
						DAN CAREYS SPORTING GOODS LTD PYRAMID SCHOOL PRODUCTS	10.05 19.35	1,507.50 2,902.50
9	Y		Champion Electric Air Pump #EP1500, or approved equal	1	EA	VARSITY BRANDS HOLDINGS CO INC PYRAMID SCHOOL PRODUCTS	55.48 62.99	55.48 62.99
						AMERICA TEAM SPORTS DAN CAREYS SPORTING GOODS LTD "Alert SERVICES INC	79.50 85.00	79.50 85.00
10	Υ		Riddell Speed Revolution Helmet or approved equal, #R41190 with 4 pt. hard cup chin strap, face mask Sizes & face mask to follow when order is placed		EA	RIDDELL ALL AMERICAN	250.00	10,500.00
11	Υ		Riddell Speed Revolution Helmet or approved equal, #R41190 with 4 pt. hard cup chin strap, face mask, x-large, face mask to follow when order is placed		EA	RIDDELL ALL AMERICAN	265.00	1,590.00
12	Y		Riddell Revolution Speed Helmet or approved equal, Denver Metallic with black facemask, helmets with 4 pt. black hard cup chin strap, helmets need to be predrilled for high hook-up medium -S2BD-LW-V large S2BD-LW-V large S2BDC-LW-V	12	EA	RIDDELL ALL AMERICAN	263.00	3,156.00
13	Υ		Riddell Classic Speed Helmet or approved equal, #R41167 Maroon helmet & chin strap with navy facemask Helmets predrilled for high hook-up with 4 pt. hard cup chin straps Sizes & facemasks to follow when order is placed	24	EA	RIDDELL ALL AMERICAN	225.00	5,400.00
14	Y		Riddell Speed Flex Helmet or approved equal, #R41195 Helmet, face mask & chin strap color to follow when order is placed Helmets predrilled for high hook-up with 4 pt. hard cup chin straps Sizes & facemasks to follow when order is placed	24	EA	RIDDELL ALL AMERICAN	353.00	8,472.00

					1		
Ln # 15	Award (Y/N) R	Reason Item Description Riddell Speed Flex Helmet, x-large or approved		UOM EA	Supplier RIDDELL ALL AMERICAN	Price 368.00	Extended Price 7,360.00
	·	equal, #R41195 Helmet, face mask & chin strap			THE SEE MENTER OF WA	000.00	7,000.00
		color to follow when order is placed predrilled for high hook-up with 4 pt. hard cup chin straps					
		facemasks to follow when order is placed					
16	Υ	Riddell Speed Helmet Repair Kits #R27590, or	6	EA	RIDDELL ALL AMERICAN	215.00	1,290.00
	'	approved equal				213.00	1,290.00
17	Υ	Riddell Speedflex Combo Mox Box Helmet	1	EA	RIDDELL ALL AMERICAN	135.00	135.00
		Accessory Kit #R27523, or approved equal					
18	Υ	Riddell Helmet Inflator Pumps #R45931, or	13	EA	RIDDELL ALL AMERICAN	8.50	110.50
19	V	approved equal	105	EA	DIDDELL ALL AMEDICAN	10.75	2 002 75
19	ĭ	Riddell Speed Hard Chin Straps or approved equal, #R45621 High hook-up, color to follow when	125	EA	RIDDELL ALL AMERICAN	16.75	2,093.75
		order is placed					
20	Υ	Riddell Speedflex Chin Strap, #R458222 Medium,	6	EA	RIDDELL ALL AMERICAN	16.75	100.50
20		color to follow when order is placed, or approved			THE BELL FILL FINE THE FILL	10.70	100.00
		equal					
21	Υ	Riddell Speed Facemasks or approved equal, color & style to follow when order is placed	14	EA	RIDDELL ALL AMERICAN	37.50	525.00
22	Υ	Riddell SK Shoulder Pad #R48310 or approved	5	PR	RIDDELL ALL AMERICAN	145.00	725.00
00	V	equal, black		DD	DIDDELL ALL AMEDICANI	4.45.00	705.00
23		Riddell AP Shoulder Pad #R48310 or approved equal, black	5	PR	RIDDELL ALL AMERICAN	145.00	725.00
24	Υ	Riddell 1 1/2"Swivel T-hooks #R001203BK, or	50	EA	RIDDELL ALL AMERICAN	0.80	40.00
25	Υ	approved equal, black Riddell Air Knee Pads 6 ½"#48158, or approved	100	PR	RIDDELL ALL AMERICAN	4.25	425.00
		equal, white					
26	Υ	Riddell Biolite Micro Knee Pads #R48159, or	100	PR	VARSITY BRANDS HOLDINGS CO INC	2.49	249.00
		approved equal			RIDDELL ALL AMERICAN	4.25	425.00
27	Υ	Riddell Speed Quick Release Pin #456109, or	48	EA	RIDDELL ALL AMERICAN	3.25	156.00
28	Υ	approved equal Riddell Speed Quick Receptacle #45960, or	12	EA	RIDDELL ALL AMERICAN	2.58	30.96
		approved equal					
29	Υ	Riddell Dipped Thigh Pads, medium 7" #R48132, or approved equal	60	PR	RIDDELL ALL AMERICAN	6.75	405.00
		or approved equal					
30	Υ	Riddell Biolite Thigh Pads #R48155, or approved	60	PR	RIDDELL ALL AMERICAN	5.75	345.00
31	Υ	equal Riddell Biolite Hip/Tail Pads #R48154, or approved	60	PR	RIDDELL ALL AMERICAN	5.90	354.00
	_	equal		-			
32	Y	Douglas Custom Shoulder Pads CP QB/WR with back plates or approved equal, sizes & style to	1	PR	*Pro Player		
		follow when order is placed					
					*Douglas PADS AND SPORTS INC DAN CAREYS SPORTING GOODS LTD	518.00	518.00
					BANG OF THE POOR OF THE COORD ETE	310.00	310.00
33	4NS	Douglas Destroyer Shoulder Pads or approved equal. Sizes to follow when order is placed	35	PR	*Pro Player		1,517.60
	Υ	equal, Sizes to follow when order is placed			DAN CAREYS SPORTING GOODS LTD	104.00	3,640.00
					*Deugles DADS AND SPORTS INC		2 050 00
					*Douglas PADS AND SPORTS INC VARSITY BRANDS HOLDINGS CO INC	113.98	3,989.30
							,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
34	Υ	Douglas Custom Shoulder Pads or approved	6	PR	*Douglas PADS AND SPORTS INC		
		equal, Sizes to follow when order is placed					2 600 40
					*Pro Player	<u> </u>	2,600.16
					DAN CAREYS SPORTING GOODS LTD	466.00	2,796.00
35	Υ	Douglas Shoulder Pads CP25Z - #PC25Z, or	6	PR	*Douglas PADS AND SPORTS INC		
1		approved equal, sizes to follow when order is			5.0.2.2.2.2.2.3.0.2.0.2.0.0.0.0.0.0.0.0.0		
		placed			*Pro Player		2 576 16
							2,370.10
					DAN CAREYS SPORTING GOODS LTD	466.00	2,796.00
Щ_			L				

Ln #	Award (Y/N) Y	Reason	Item Description Douglas shoulder pads, CP QBK DB or approved		UOM PR	Supplier Douglas PADS AND SPORTS INC	Price	Extended Price
		equal, #PCQK placed	qual, #PCQKDB, sizes to follow when order is aced			*Pro Player		2 576 16
						DAN CAREYS SPORTING GOODS LTD	466.00	2,796.00
37	V		Douglas shoulder pads, SP QB/WR #PSQB or	6	PR	*Douglas PADS AND SPORTS INC	400.00	2,730.00
31	<u> </u>	approved equal, Sizes to follow when order is placed	approved equal, Sizes to follow when order is		110			
						*Pro Player DAN CAREYS SPORTING GOODS LTD	355.00	2,130.00
38	Υ	Douglas shoulder pads, SP 25 #PS25 or approvequal, Sizes to follow when order is placed	6	PR	*Pro Player			
						*Douglas PADS AND SPORTS INC DAN CAREYS SPORTING GOODS LTD	369.00	2,214.00
39	Υ		Douglas shoulder pads, SP Mr. DZ"or approved		PR	*Douglas PADS AND SPORTS INC		
			equal, #PSDZ, sizes to follow when order is placed			*2. P		
						*Pro Player DAN CAREYS SPORTING GOODS LTD	355.00	2,130.00
						VARSITY BRANDS HOLDINGS CO INC	379.98	2,279.88
40	Υ		Douglas 4"Shoulder Pad Back Plates #ALBP, or approved equal	10	EA	VARSITY BRANDS HOLDINGS CO INC	29.98	299.80
		approxist setter			*Douglas PADS AND SPORTS INC DAN CAREYS SPORTING GOODS LTD	52.00	520.00	
						*Pro Player		543.60
41	Υ		Douglas Knee Pad #ADK, or approved equal	36	PR	VARSITY BRANDS HOLDINGS CO INC	4.48	161.28
						DAN CAREYS SPORTING GOODS LTD	4.50	162.00
						*Douglas PADS AND SPORTS INC *Pro Player		180.00 250.92
42	Y		Wilson GST Footballs with school name No seconds) -no subs -District Approved Ball	85	EA	DAN CAREYS SPORTING GOODS LTD	100.00	8,500.00
						VARSITY BRANDS HOLDINGS CO INC	100.00	8,500.00
43	Υ		BSN Hexa Rings #1454873 (set), or approved equal		EA	VARSITY BRANDS HOLDINGS CO INC	20.98	62.94
44	Υ		Schutt Universal Jaw Pads #7743, or approved equal, Color to follow when order is placed	20	PR	AMERICA TEAM SPORTS	4.25	85.00
						DAN CAREYS SPORTING GOODS LTD	15.20	304.00
45	Υ		Schutt DNA Universal Firm Jaw Pads or approved equal, Color to follow when order is placed	70	PR	AMERICA TEAM SPORTS	4.25	297.50
						DAN CAREYS SPORTING GOODS LTD	13.00	910.00
46	Υ		Schutt Inter-link Jaw Pads #140083090, Silver, or approved equal	12	PR	AMERICA TEAM SPORTS	10.75	129.00
						DAN CAREYS SPORTING GOODS LTD	14.00	168.00
47	Υ		Schutt Inter-link Jaw Pads #14003290 or approved equal, Silver	12	PR	AMERICA TEAM SPORTS	10.75	129.00
						DAN CAREYS SPORTING GOODS LTD	14.00	168.00
48	Υ		Schutt Air Maxx 5/8"TPU Jaw Pads #140082090, or approved equal, color to follow when order is placed	12	PR	VARSITY BRANDS HOLDINGS CO INC	6.94	83.28
			piaced			AMERICA TEAM SPORTS DAN CAREYS SPORTING GOODS LTD	7.25 8.00	87.00 96.00
49	Υ		Schutt Air Maxx 1"TPU Jaw Pads #140084090, or	17	PR	VARSITY BRANDS HOLDINGS CO INC	6.94	117.98
			approved equal, color to follow when order is placed					
						AMERICA TEAM SPORTS DAN CAREYS SPORTING GOODS LTD	7.25 8.00	123.25 136.00
50	Υ		Schutt Air Maxx 1 1/8"TPU Jaw Pads #140085090, or approved equal, color to follow when order is	17	PR	VARSITY BRANDS HOLDINGS CO INC	6.94	117.98
		placed	praced			AMERICA TEAM SPORTS	7.25	123.25
	V		O-leve Air March 4 (AITDILL	,=	DE	DAN CAREYS SPORTING GOODS LTD	8.00	136.00
51	Υ		Schutt Air Maxx 1 3/8"TPU Jaw Pads #140016090, or approved equal, color to follow when order is placed	17	PR	VARSITY BRANDS HOLDINGS CO INC	6.94	117.98
						AMERICA TEAM SPORTS DAN CAREYS SPORTING GOODS LTD	7.25 8.00	123.25 136.00

O								
Columb C		Award (Y/N) Rea	Schutt Chin Straps #7855, high hook-up Hard cup, or approved equal, color to follow when order is					=xtended Price 1,507.50
Solut Plank Variety Scheine foll Resident 120,000 100			piacod			DAN CAREYS SPORTING GOODS LTD	11.10	1,665.00
Service Charles Char	53	Y		20	EA	AMERICA TEAM SPORTS	10.05	201.00
Schut Vergenov VTDI (2016) 100			Sole to lone. The order is pieces			DAN CAREYS SPORTING GOODS LTD	11.10	222.00
Software Heimer Repair Packets or approved equal 150 EA MARRICA TEAM SPORTS 220.00 7.70.0	54	Y		3	EA	AMERICA TEAM SPORTS	210.00	630.00
Schult Vergenov VTBI 2000 Find Name 100 Find 10						VARSITY BRANDS HOLDINGS CO INC	218.98	656.94
Schutz Vergeance VTDII s204801 Fearl Navy with attached start for date for consists in Province and Indice, the strap of approved equal, Stress to follow with attached start for consists in Province and Indice, the strap of approved equal, Stress to follow with attached start for mark, black chin strap of approved again. Stress to follow with attached start vergeance VTDII s204801, or approved again. Stress to follow with a form that is provided again. Stress to follow with a form that is follow with a form that is provided again. Stress to follow with a form that is provided again. Stress to follow with a form that is provided again. Stress to follow with a form that is provided again. Stress to follow with a form that is provided again. Stress to follow with a						DAN CAREYS SPORTING GOODS LTD		720.00
Schut Vergeance VTDII #204801 Pearl Navy with attached back incomask in Payoth all black with terminate in patients and the payoth all black with attached back incomask in Payoth all black Sizes to follow with an order is placed with all black Sizes to follow with an order is placed on the payoth all black thin order is placed on a payoth sizes to follow with an order is placed on a payoth sizes to follow with an order is placed on the payoth sizes to follow with an order is placed on the payoth sizes to follow with an order is placed on the payoth sizes to follow with an order is placed on the payoth sizes to follow with an order is placed on the payoth sizes to follow with an order is placed on the payoth sizes and payoth s	55	Y	Schutt Helmet Repair Packets or approved equal	150	EA		3.35	502.50
### ### ### ### ### ### ### ### ### ##								1,665.00
Schut Vergeenes VTDI #200001 or approved equal ways 10 EA AMERICA TEAM SPORTS 20000 2,2800 2,8000	56	Y	attached black facemasks HP switch -all black, black chin strap, or approved equal, Sizes to follow		EA	AMERICA TEAM SPORTS	210.00	5,460.00
Separation Sep				1		DAN CAREYS SPORTING GOODS LTD	320.00	8,320.00
Schult Vergeance DCT Helmet Maroon with navy lace mask & maroon hard cup chin strap or gosproved egal, #2454164262 & 249405000 2,490.0 2,490	57	Y	equal, Black with black face mask, black chin strap		EA			2,000.00
Schutt Vergeance VTD II Homet Marcon with cave) 12 EA								2,850.00
Schutt Vengeance VTD II Helmet Maroon with navy face mask & maroon hard cup chin strap or approved equal, #20480140CC & 20480150CC	58	Y	face mask & maroon hard cup chin strap or	12	EA	AMERICA TEAM SPORTS	205.00	2,460.00
Schutt Vergeance VTO II #204801 crock Schutt Vergeance VTO II #204801 or approved equal, approved equal, #204801 schot vergeance VTO II #204801 or approved equal, white vite graph with prey follow) schot make follow when order is elaced when with gray facemask installed, sizes to follow when order is elaced when with gray facemask installed, sizes to follow when order is elaced when with with gray facemask installed, sizes to follow when order is elaced when with every facemask installed, sizes to follow when order is elaced when seatle like technicals are approved equal, when the seatle like technicals are approved equal, when seatle like technicals are approved equal, which seatle like technicals are approved equal, which is seatle like technical approved equal, which is seatle like the provided equal approved equal approved equal, which is seatle like the provided equal approved equal approved equal, approv			approved equal, #204014CCC & 2040015CCC			DAN CAREYS SPORTING GOODS LTD	245.00	2,940.00
Schutt Vengeance VTD III #204801, or approved equal, Venual Record with record equal, Metallic Royal with grey (silver) face mask Royal blue chin strap, sizes and face masks to (ellow when order is placed) Schutt DNA Recruit Helmets or approved equal, white with gray facemask installed, sizes to follow when order is leaded Schutt DNA Pro Helmets or approved equal, when order is placed Schutt DNA Pro Helmets or approved equal, Venual Recruit DNA Pro Pro 7900 Shoulider Pads or approved equal, Venual Recruit DNA Pro 7900 Shoulider Pads Strapping or approved equal, Venual Recruit DNA Pro 7900 Shoulider Pads Strapping or approved equal, Venual Recruit DNA Pro 7900 Shoulider Pads Strapping or approved equal, Venual Recruit DNA Pro 7900 Shoulider Pads #80000 No. Approved equal Recruit DNA Pro 7900 Shoulider Pads #80000 No. Approved Pro 7900 Shoulider Pads #80000 No. Approved Pro 7900 Shoulider Pads #800000 No. Approved Pro 7900 Shoulider Pads #8000000 No. Approve	59	Y	face mask & maroon hard cup chin strap or	12	EA	AMERICA TEAM SPORTS	215.00	2,580.00
Equal, Metalilic Royal with grey (silver) face mask roy follow when order is placed. DAN CAREYS SPORTING GOODS LTD 320.00 6.400.00						DAN CAREYS SPORTING GOODS LTD	238.00	2,856.00
Schutt DNA Recruit Helmets or approved equal, white with gray facemask installed, sizes to follow when order is placed Schutt DNA Pro Helmets or approved equal, vegas Gold with Seattle Blue facemask, sizes & style of facemask to follow when order is placed Schutt DNA Pro Helmets or approved equal, vegas Gold with Seattle Blue facemask, sizes & style of facemask to follow when order is placed Schutt Jr. Pro 7900 Shoulder Pads or approved 80 PR AMERICA TEAM SPORTS 210,000 5,780,000 6,720,0	60	Y	equal, Metallic Royal with grey (silver) face mask Royal blue chin strap, sizes and face masks to	20	EA	AMERICA TEAM SPORTS	215.00	4,300.00
White with gray facemask installed, sizes to follow when order is placed DAN CAREYS SPORTING GOODS LTD 98.30 19,660.00			ionota impir o do ilo piacod	1		DAN CAREYS SPORTING GOODS LTD	320.00	6,400.00
Schutt DNA Pro Helmets or approved equal, Vegas Gold with Seattle Blue facemask, sizes & style of facemask to follow when order is placed DAN CAREYS SPORTING GOODS LTD 240.00 6,72	61	Y	white with gray facemask installed, sizes to follow	200	EA			17,800.00
Gold with Seattle Blue facemask, sizes & style of facemask to follow when order is placed	00	V	October DNA Des Haberton	0.0	- A			·
Schutt Jr. Pro 7900 Shoulder Pads or approved equal Schutt Jr. Pro 7900 Shoulder Pads or approved equal DAN CAREYS SPORTING GOODS LTD 49.00 3,920.0	62	<u> </u>	Gold with Seattle Blue facemask, sizes & style of	28	EA			6,720.00
Schutt Shoulder Pad Strapping or approved equal, 12 RL DAN CAREYS SPORTING GOODS LTD 49.00 3,920.00	63	Y	Schutt Jr. Pro 7900 Shoulder Pads or approved	80	PR			3,100.00
black VARSITY BRANDS HOLDINGS CO INC 23.98 287.7								3,920.00
VARSITY BRANDS HOLDINGS CO INC 23.98 287.7	64	Y	Schutt Shoulder Pad Strapping or approved equal,	12	RL	DAN CAREYS SPORTING GOODS LTD	22.26	267.12
Schutt Inflator Pumps or approved equal 4 EA DAN CAREYS SPORTING GOODS LTD 7.10 28.4			black			VARSITY BRANDS HOLDINGS CO INC	23.98	287.76
VARSITY BRANDS HOLDINGS CO INC 7.19 28.7								300.60
AMERICA TEAM SPORTS 8.15 32.6	65	Y	Schutt Inflator Pumps or approved equal	4	EA			28.40
Schutt Varsity Shoulder Pad Backplates #79923000, or approved equal 10 EA AMERICA TEAM SPORTS 17.45 174.5 174.5 174.5 174.5								
VARSITY BRANDS HOLDINGS CO INC 17.98 179.8 179.8 179.8	66	Y		10	EA			174.50
67 Y Schutt Air Flex Shoulder Pads #940500, or approved equal DAN CAREYS SPORTING GOODS LTD 125.00 1,250.0 1,2			#79923000, or approved equal			VARSITY BRANDS HOLDINGS CO INC	17.98	179.80
approved equal DAN CAREYS SPORTING GOODS LTD 125.00 1,250.00						DAN CAREYS SPORTING GOODS LTD	19.50	195.00
DAN CAREYS SPORTING GOODS LTD 125.00 1,250.0 Schutt Varsity Flex Shoulder Pads #800217, or approved equal 10 PR AMERICA TEAM SPORTS 105.00 1,050.0 DAN CAREYS SPORTING GOODS LTD 125.00 1,250.0 DAN CAREYS SPORTING GOODS LTD 125.00 1,250.0 AMERICA TEAM SPORTS 200.00 4,800.0 AMERICA TEAM SPORTS 200.00 4,800.0	67	Y		10	PR	AMERICA TEAM SPORTS	38.50	385.00
approved equal DAN CAREYS SPORTING GOODS LTD 125.00 1,250.0 69 Y Schutt Skill Air Maxx Shoulder Pads #801817, or approved equal, sizes to follow when order is						DAN CAREYS SPORTING GOODS LTD	125.00	1,250.00
DAN CAREYS SPORTING GOODS LTD 125.00 1,250.0 Schutt Skill Air Maxx Shoulder Pads #801817, or approved equal, sizes to follow when order is	68	Y		10	PR	AMERICA TEAM SPORTS	105.00	1,050.00
approved equal, sizes to follow when order is								1,250.00
piacea	69	Y		24	PR	AMÉRICA TEAM SPORTS	200.00	4,800.00

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM			Extended Price
						DAN CAREYS SPORTING GOODS LTD	205.00	4,920.00
70	Y		Schutt Air Maxx OL/DL Shoulder Pads #801855, o approved equal, sizes to follow when order is placed	r 12	PR	AMERICA TEAM SPORTS	190.00	2,280.00
						DAN CAREYS SPORTING GOODS LTD	205.00	2,460.00
71	Y		Schutt Air Maxx Rib Protector #800802, or approved equal, Black	24	PR	AMERICA TEAM SPORTS	32.00	768.00
						DAN CAREYS SPORTING GOODS LTD	45.85	1,100.40
72	4MO		Schutt 1 ½"Shoulder Pad T-hooks or approved equal	450	EA	VARSITY BRANDS HOLDINGS CO INC	0.39	175.50
	Y					AMERICA TEAM SPORTS DAN CAREYS SPORTING GOODS LTD	0.42 1.60	189.00 720.00
73	Y		Schutt Twist Release Retainer #15001192, or	12	EA	AMERICA TEAM SPORTS	8.35	100.20
			approved equal, white			DAN CAREYS SPORTING GOODS LTD	8.89	106.68
						VARSITY BRANDS HOLDINGS CO INC	8.98	107.76
74	Y		Schutt Air Cushioned Knee Pads #1342012 DKP-	60	PR	AMERICA TEAM SPORTS	8.35	501.00
			YA, or approved equal			VARSITY BRANDS HOLDINGS CO INC	8.97	538.20
						DAN CAREYS SPORTING GOODS LTD	9.30	558.00
75	Υ		Schutt Skill Position Varsity Knee Pads,	60	PR	AMERICA TEAM SPORTS	4.75	285.00
			#13440402 DKP-SK, or approved equal			VARSITY BRANDS HOLDINGS CO INC	4.98	298.80
						DAN CAREYS SPORTING GOODS LTD	5.25	315.00
76	Y		Schutt Reinforced Universal Varsity Thigh Pads	60	PR	AMERICA TEAM SPORTS	9.95	597.00
			#13201202 VTP, or approved equal			VARSITY BRANDS HOLDINGS CO INC	10.48	628.80
						DAN CAREYS SPORTING GOODS LTD	11.15	669.00
77	Y		Schutt Universal Youth Thigh Pads #132810302	60	PR	AMERICA TEAM SPORTS	7.95	477.00
			YTPE, or approved equal			VARSITY BRANDS HOLDINGS CO INC	8.29	497.40
						DAN CAREYS SPORTING GOODS LTD	8.95	537.00
78	V		Schutt #13020202 Tailbone Pads, or approved	60	PR	DAN CAREYS SPORTING GOODS LTD	1.91	114.60
70	'		equal		FIX	AMERICA TEAM SPORTS	2.25	135.00
79	Υ		Schutt 7 piece Pad Set HD Slotted #13661101, or approved equal	60	PR	AMERICA TEAM SPORTS	14.05	843.00
			approved equal			VARSITY BRANDS HOLDINGS CO INC	14.78	886.80
						DAN CAREYS SPORTING GOODS LTD	15.95	957.00
80	Υ		Schutt FB Helmet Cover or approved equal	5	DZN	VARSITY BRANDS HOLDINGS CO INC	24.98	124.90
						AMERICA TEAM SPORTS DAN CAREYS SPORTING GOODS LTD	30.15 63.35	150.75 316.75
81	Υ		Rogers 12-Arm Powerblast with Hanging Dummy #410458, or approved equal	1	EA	VARSITY BRANDS HOLDINGS CO INC	3,994.98	3,994.98
82	Υ		Rogers MVP Drive #410882, or approved equal	1	EA	VARSITY BRANDS HOLDINGS CO INC	6,999.98	6,999.98
83	Υ		Rogers The Board #410105, or approved equal	1	EA	VARSITY BRANDS HOLDINGS CO INC	237.49	237.49
84	Υ		Down Helmet Cart #1149449 Holds 60 helmets, or	1	EA	VARSITY BRANDS HOLDINGS CO INC	211.98	211.98
			approved equal			AMERICA TEAM SPORTS	240.00	240.00
85	Υ		Pro Down Pylons, orange Weighted Anchorless	2	SET	PYRAMID SCHOOL PRODUCTS VARSITY BRANDS HOLDINGS CO INC	325.00 19.98	325.00 39.96
			#BA4-MSWPYLON, or approved equal			AMERICA TEAM SPORTS	29.50	59.00
						PYRAMID SCHOOL PRODUCTS PIONEER MANUFACTURING CO INC	35.00 39.00	70.00 78.00
86	Y		Down Indicator & Chains #B54-1376988, or approved equal	1	SET	VARSITY BRANDS HOLDINGS CO INC	189.98	189.98
						AMERICA TEAM SPORTS PIONEER MANUFACTURING CO INC	240.00 375.00	240.00 375.00
						DAN CAREYS SPORTING GOODS LTD	398.00	398.00
87	Υ		Pro Down Helmet Rack with 6"Wheels #B54- 1257731, or approved equal	1	EA	VARSITY BRANDS HOLDINGS CO INC	211.98	211.98
88	Υ		Disk Cones or approved equal #B54-1255706,	5	DZN	AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC	240.00 2.98	240.00 14.90
			orange			PYRAMID SCHOOL PRODUCTS	5.04	25.20

Ln #	Award (Y/N)	Reason	Item Description	Quantity	LIOM	Supplier	Drico E	xtended Price
LΠ π	Award (1714)	reason	nem Bescription	Quantity	OOW	DAN CAREYS SPORTING GOODS LTD	19.00	95.00
89	Y		Fox 40 Whistles, no subs	235	EA	AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC	3.05 3.09	716.75 726.15
						*Alert SERVICES INC DAN CAREYS SPORTING GOODS LTD	4.50	1,057.50
90	Y		Lanyards Color to follow when order is placed	10	DZ	VARSITY BRANDS HOLDINGS CO INC	2.52	25.20
						PYRAMID SCHOOL PRODUCTS	4.98	49.80
						AMERICA TEAM SPORTS	6.65	66.50
						DAN CAREYS SPORTING GOODS LTD	7.90	79.00
91	Y		Athletic Specialties PT1 1"Extra Point Tees or	22	EA	*Alert SERVICES INC VARSITY BRANDS HOLDINGS CO INC	1.11	24.42
			approved equal			AMERICA TEAM SPORTS	3.45	75.90
						DAN CAREYS SPORTING GOODS LTD	3.45	75.90
92	Υ		Athletic Specialties Webb Belts or approved equal #PWB Color to follow when order is placed	500	EA	VARSITY BRANDS HOLDINGS CO INC	0.69	345.00
						AMERICA TEAM SPORTS *Alert SERVICES INC	0.95	475.00 500.00
						DAN CAREYS SPORTING GOODS LTD	1.00	500
93	Υ		Black Shoe Laces	6	GRO	*Alert SERVICES INC		
						DAN CAREYS SPORTING GOODS LTD	36.50	219.00
94	4NS		Baden QB1-NFHS Middle School Footballs -	60	EA	PYRAMID SCHOOL PRODUCTS DAN CAREYS SPORTING GOODS LTD	16.35 21.50	981.00 1,290.00
						AMERICA TEAM SPORTS *Pro Player	46.45	2,787.00
95	Υ	Wilson Official Size Leather Middle School Football #WTF1320B, or approved equal	60	EA	VARSITY BRANDS HOLDINGS CO INC	44.76	2,685.60	
						PYRAMID SCHOOL PRODUCTS DAN CAREYS SPORTING GOODS LTD	45.98 52.00	2,758.80 3,120.00
96	Υ		Master Lock with key & combination Black or approved equal #V-69 #228-278	50	EA	PYRAMID SCHOOL PRODUCTS	5.80	290.00
		approved equal #V-69 #226-276			AMERICA TEAM SPORTS	6.45	322.50	
						*Pro Player VARSITY BRANDS HOLDINGS CO INC	11.17	558.50
97	Y		Master Lock with key & combination Royal or	50	EA	PYRAMID SCHOOL PRODUCTS	5.80	290.00
			approved equal #V659			AMERICA TEAM SPORTS	6.45	322.50
						*Pro Player VARSITY BRANDS HOLDINGS CO INC	11.17	558.50
						VARSITI BRANDS HOLDINGS CO INC	11.17	336.30
98	Y		Master Lock with key & combination or approved	98	EA	PYRAMID SCHOOL PRODUCTS	5.80	568.40
			equal #50 Black			AMERICA TEAM SPORTS	6.45	632.10
						*Pro Player		966.28
						VARSITY BRANDS HOLDINGS CO INC	11.17	1,094.66
99	Y		Scrimmage Helmet Cover, orange	7	DZ	VARSITY BRANDS HOLDINGS CO INC	24.98	174.86
						PYRAMID SCHOOL PRODUCTS	28.65	200.55
						AMERICA TEAM SPORTS *Pro Player	30.15	211.05
						DAN CAREYS SPORTING GOODS LTD	39.50	276.50
100 101	Y		Unequal Gyro Helmet Inserts Orange Cones (10 pkg.) or approved equal #A134		EA PK	AMERICA TEAM SPORTS DAN CAREYS SPORTING GOODS LTD	40.00 5.50	800.00 82.50
102	Υ		Agility Dots 9"Diameter	30	EA	VARSITY BRANDS HOLDINGS CO INC	0.88	26.40
						DAN CAREYS SPORTING GOODS LTD	2.50	75.00
103	Υ	Wizard 1"Kick-off Tee #GT1 or approved equal	Wizard 1"Kick-off Tee #GT1 or approved equal	1	EA	DAN CAREYS SPORTING GOODS LTD	6.00	6.00
						PYRAMID SCHOOL PRODUCTS VARSITY BRANDS HOLDINGS CO INC	8.65 10.21	8.65 10.21

Ln#	Award (Y/N)	Reason Item Description	Quantity	LIOM	Supplier	Prico	Extended Price
104	Y	2 color custom decal -Green Bay G Gold outlined white on oval -clear background Contact for sample	200	PR	HEALY AWARDS INC	3.20	640.00
105	Y	Custom Royal LC Logo Contact for Sample	50	PR	*Pro Player HEALY AWARDS INC	4.01	200.50
106	V		100	PR	*Pro Player	6.40	448.00
106	·	2 Color Chrome Custom North Garland Decal	160	PK	HEALY AWARDS INC RIDDELL ALL AMERICAN	6.44	1,024.00 1,030.40
107	Υ	Custom Sachse Decal, two color Contact for	100	PR	*Pro Player HEALY AWARDS INC	3.49	349.00
		sample			RIDDELL ALL AMERICAN	3.60	360.00
108	V	Custom Interlocking \$G" -chrome and silver trim -	140	PR	*Pro Player RIDDELL ALL AMERICAN	6.44	901.60
100	'	color to follow when order is placed	140	FIX			
					HEALY AWARDS INC *Pro Player	7.54	1,055.60
109	Y	Bronco Stripe - 2 color chrome	100	EA	RIDDELL ALL AMERICAN HEALY AWARDS INC	4.75 5.62	475.00 562.00
110	4NS	Multi Helmet Stripe - Colors to follow when order is	80	EA	*Pro Player RIDDELL ALL AMERICAN	2.60	208.00
	Y	placed			HEALY AWARDS INC	3.19	255.20
	1	University of Allies of Colors of Allies of Al		OFT	*Pro Player		714.40
111	Y	Helmet numbers, 1"#1-99, Color to follow when order is placed	6	SET	RIDDELL ALL AMERICAN	16.50	99.00
112	Υ	Douglas SP Series Adult Rib Protector #AL-RIB4	12	EA	HEALY AWARDS INC *Pro Player	18.75	112.50
					DAN CAREYS SPORTING GOODS LTD	98.65	1,183.80
113	V	Rogers The Board #410105 or approved equal	1	EA	VARSITY BRANDS HOLDINGS CO INC	237.49	237.49
114	Y	Jugs Field General Football Throwing Machine #410635 or approved equal	1	EA	AMERICA TEAM SPORTS	2,695.00	2,695.00
					PYRAMID SCHOOL PRODUCTS VARSITY BRANDS HOLDINGS CO INC	2,899.00 2,949.98	2,899.00 2,949.98
					DAN CAREYS SPORTING GOODS LTD	3,033.35	3,033.35
115	V	Riddell Speedflex Helmet Accessory Kit #R27599		EA	RIDDELL ALL AMERICAN	275.00	825.00
116	Y	JD Douglas Legacy Shoulder Pad, #PLIJ, or approved equal	4	PR	VARSITY BRANDS HOLDINGS CO INC	147.98	591.92
					*Pro Player DAN CAREYS SPORTING GOODS LTD	160.00	640.00
117	Y	DD Legacy Douglas Shoulder Pad DD #PLDD, or	4	PR	VARSITY BRANDS HOLDINGS CO INC	147.98	591.92
		approved equal					
					*Pro Player	400.00	639.44
					DAN CAREYS SPORTING GOODS LTD	160.00	640.00
118	Y	RD Legacy Douglas Shoulder Pads #PLRD or approved equal	4	PR	VARSITY BRANDS HOLDINGS CO INC	147.98	591.92
					*Pro Player DAN CAREYS SPORTING GOODS LTD	160.00	640.00
119	Y	Rogers 5-man Mod Sled \$311305 or approved	1	EA	VARSITY BRANDS HOLDINGS CO INC	5,499.98	5,499.98
120	Y	equal 24' Rogers Trap Chute #410715 or approved equa		EA	VARSITY BRANDS HOLDINGS CO INC		
						2,799.98	2,799.98
121	Y	Zone Chute, Rogers #410722 24', or approved equal		EA	VARSITY BRANDS HOLDINGS CO INC	3,049.98	3,049.98
122	Υ	Rogers Agile 1 (set of six) #410103, red, or approved equal	1	ST	VARSITY BRANDS HOLDINGS CO INC	983.88	983.88
123	Υ	BSN Gym Chalk Carbonate #PGE4360X, 1 lb. or approved equal	2	EA	VARSITY BRANDS HOLDINGS CO INC	8.98	17.96
124	Υ	Master Lock with key & combination, dark green, o	50	EA	PYRAMID SCHOOL PRODUCTS	5.98	299.00
		approved equal			AMERICA TEAM SPORTS	6.45	322.50
125	Υ	BOA Pit Shark Short Frame #PITSH-SF or	1	EA	*Pro Player AMERICA TEAM SPORTS	4,700.00	4,700.00
126	Υ	approved equal Naaman Forest Custom Helmet Decal three colors	100	PR	HEALY AWARDS INC	3.71	371.00
127	Y	Douglas Shoulder Pad Rib Protector		EA	*Pro Player		
		- Program - Go ND - Fordord]		DAN CAREYS SPORTING GOODS LTD	98.00	784.00
128	Υ	Riddell Speedflex Facemask SF-2BD #9541409,	2	EA	RIDDELL ALL AMERICAN	37.80	75.60
129	Υ	no subs Riddell Speedflex Facemask SF-2EG-ii #9545709,	2	EA	RIDDELL ALL AMERICAN	37.80	75.60
130	Y	no subs #954SP209 Riddell Speedflex Facemask SF-2BD-	2	EA	RIDDELL ALL AMERICAN	55.80	111.60
131	Y	SW, no subs SF-2EG-SW Riddell Speedflex Fackmask		EA	RIDDELL ALL AMERICAN	55.80	111.60
,51		#954SP309, no subs	2				

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
132	4NS		Game Breaker Soft Shell Helmet	24	EA	DAN CAREYS SPORTING GOODS LTD	45.00	1,080.00
	Υ					VARSITY BRANDS HOLDINGS CO INC	80.98	1,943.52
133	Υ		Force Soft Shell Helmet #CL9625	25	EA	DAN CAREYS SPORTING GOODS LTD	45.00	1,125.00
						AMERICA TEAM SPORTS	54.00	1.350.00
134	Υ		1" Helmet Award - stock	600	EA	HEALY AWARDS INC	0.22	132.00
						RIDDELL ALL AMERICAN	0.40	240.00
135	Υ		Custom 1" Award - 1 color	300	EA	HEALY AWARDS INC	0.23	69.00
						RIDDELL ALL AMERICAN	0.42	126.00
136	Υ		4 color Chrome Finish Helmet Decal - Naaman	50	PR	HEALY AWARDS INC	7.98	399.00
						RIDDELL ALL AMERICAN	7.98	
137	Υ		McDavid Hexpad Girdles with pads #7555T, no subs, color & sizes to follow when order is placed	100	EA	DAN CAREYS SPORTING GOODS LTD	43.00	4,300.00
						AMERICA TEAM SPORTS	44.00	4.400.00
138	Υ		McDavid Thudd Hip/Thigh Hex Pad Girdles #757, white, no subs, sizes to follow when order is placed		EA	DAN CAREYS SPORTING GOODS LTD	42.00	6,300.00
						AMERICA TEAM SPORTS	44.00	6,600.00
139	Υ		McDavid Hex Pad Short Girdle with wrap-around thigh #7991, black, no subs, sizes to follow when order is placed	24	EA	AMERICA TEAM SPORTS	46.95	1,126.80
						DAN CAREYS SPORTING GOODS LTD	49.90	1,197.60
140	Υ		Adams Girdle with sewn in padding #644LRP, no subs, sizes to follow when order is placed	25	BD	AMERICA TEAM SPORTS	16.45	411.25
						DAN CAREYS SPORTING GOODS LTD	18.50	462.50